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1. What is this rhythm ?

2. What is the likely cause ?
3. What treatment does this patient need ?
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1.  What is the cause of this rhythm ?
2. What treatment may be needed for this rhythm ?
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1.  What abnormalities can be seen
on this ECG ?

2. What is the likely cause ?

3. What is the initial management ?
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1. What abnormalities can be seen ?
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— = = = 1. Whatis this rhythm ?
o = 2. What is the cause of the change in

S . P morphology of the QRS complex seen on
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What are the causes of ST segment —
elevation on an ECG ?

What is the most likely cause in this

well, young man ?
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= 1. What is this rhythm ?
f’ 2. What is the cause ?
3. What initial treatment is required ?
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What features differentiate benign
ectopic beats from malignant ones ?

What treatment does this patient
require ?




What are the possible causes ?
What initial treatment is required ?

What is this rhythm ?
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1.  What is this phenomenon known as ?
2. What is management is required ?
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Any Questions ?




